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Homework ­ Questions 1­6 
included in Slides and 
Questions 1­3 on handout given 
out in class.



Attachments

7.2 ­ Build Your Skills Solutions.pdf




Section 7.2 Angle Bisectors and Perpendicular Lines, Build Your Skills, p435–437 


Student Resource p292–295 


 


Build Your Skills 


 


1. a) The measure of the angle is 27°. The measure of the new angles after the original has 


been bisected is 13.5°. 


b) The measure of the angle is 84°. The measure of the new angles after the original has been 


bisected is 42°. 


c) The measure of the angle is 90°. The measure of the new angles after the original has been 


bisected is 45°. 


d) The measure of the angle is 262°. The measure of the new angles after the original has 


been bisected is 131°. 


 


2. a) The angle made by Strip #1 and Strip #2 is 50°. The angle made by Strip #2 and Strip #3 


is 100°. The angle made by Strip #1 and Strip #3 is 30°. 


b) The bisectors for each angle are as follows. 


Strip #1 and Strip #2 


50° ÷ 2 = 25° 


Strip #2 and Strip #3 


100° ÷ 2 = 50° 


Strip #1 and Strip #3 


30° ÷ 2 = 15° 


c) The ends of Strip #1 and Strip #2 must be cut at 25° angles where they meet. The ends of 


Strip #2 and Strip #3 must be cut at 50° angles where they meet. The ends of Strip #1 and #3 


must be cut at 15° where they meet. 


 


3. Regular octagons have internal angles with measures that equal 135°. The reflex angle to 


each of these will have measures equalling 225°. 


360° – 135° = 225° 


The mitre joints will bisect these angles so that the measures of the angles between each 


piece’s ends and the straight sides equals 112.5°. 


225° ÷ 2 = 112.5° 


 


4. A measures 150°. The bisected angle measures 75°. 


B measures 140°. The bisected angle measures 70°. 


C measures 130°. The bisected angle measures 65°. 


D measures 130°. The bisected angle measures 65°. 


 


5. For the left pair of light rays, the total angle between the rays equals 76°. 


The angle of reflection equals the angle of incidence, or 38°. 


76° ÷ 2 = 38° 


For the middle pair of light rays, the total angle between the rays equals 100°. 


The angle of reflection equals the angle of incidence, or 50°. 


100° ÷ 2 = 50° 


For the right pair of light rays, the total angle between the rays equals 124°. 


The angle of reflection equals the angle of incidence, or 62°. 


124° ÷ 2 = 62° 







 


6. Students will have learned in grade 6 that 


the sum of interior angles in a triangle is 


180°. In this problem, a triangle is formed 


by the corner and the piece of wood, so the 


three interior angles must add up to 180°. 


The corner is a right angle (90°) and the 


given angle is 50°. If students add these two 


angles they will get 140°. The third angle 


must be the difference between 180° and 


140°. If they subtract 140° from 180° they 


will get 40°. Since the angle on the other 


side of this angle must be supplementary to 


it, so that a straight line is formed, the angle 


must equal 140° (the difference between 


180° and 40°). 


 


7. The logos drawn by students should look somewhat like this. 


The measure of the reflex angle in this case is 260°. The 


measure of the angle between each consecutive line segment 


radiating from the centre equals 16.25°. 
    


  
 = 16.25° 


Students should use a strategy of bisecting the angles into 


smaller and smaller angles (5 bisections are required). 


 


 


 


Extend Your Thinking 


 


8. At this point, the normal line to the reflector will form a 20° angle with the incident ray, 


and an 8° angle with the reflected ray. The angle of incidence must be equal to the angle of 


reflection. The total angle between the two rays will equal 28° (20° + 8°). The angle of 


incidence and angle of reflection must equal 14° (28° ÷ 2). The 20° angle must be reduced by 


6°, and the 8° angle must be increased by 6°. The reflector must be rotated 6° counter-


clockwise. 
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